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This section is primarily application of the techniques learned in the previous section.

When solving pairs of lines, one of three things will happen:

1. You will get a value for x and a value for y. This means there is one solution to the system. Graphically, the two lines intersect at one point.


2. Both variables will drop out and you are left with an untrue statement, such as 0=29. This means there are no solutions to the system. Graphically, the lines are parallel to each other with different y intercepts.


3. Both variables will drop out and you are left with a true statement, such as 0=0. This means there are an infinite number of solutions to the system. Graphically, the lines are identical.


